/2
(ij The integral / sin z dz equals

*0‘ % OU{ B

g The integral / cos z sin? z dz equals

- i
{®) The integral / I —
g i

p ‘ /4
(55 The integral / sec? 7 dr equals

j{% The integral / tan r dz equals

( ) The integral dz equals

T

1
, dx

A7) The integral equals

O B8 i o

V3 g

(:D The integral — —— equals
- 1 T 1-2 -1

! dx
’(T{') The integral / = equals
0

% 4
(M) The integral / ig equals
) 1

Fall 05

»‘; The integral / cos(z + 2) dz equals

@ The integral / sec T tan r dz equals

@ The integral / equals
The mtegral /

equals

The integral / tan® z dr equals

The integral / 1 d_a: equals
O o Vo



@) The integral / if equals
I 0o T e —

@ The integral / % dx equals

@ State the integration by parts formula:

lsing
@ Give a limit definition of the i Improper integral / —_ d:r

@ The integral / cot z dx equals

2 .
L nkes oo & [/ sinx dr =
W i< Jo

23! [tanzsec’s dz =

Y / \/a:Z:-f—zL dz can be integrated using the trigonometric substitution z =

——

: . ® dz
£2]l ok, (a) Does the improper integral / = converge (ves or no)
1 Y 0 e

dz equals

(b) The integral /

sin

2
“d
(c) The integral / Qg equals
1

(f) If n > 1, the integral / z—f equals

1

(h) The integral / z sinz dzr equals




Toll 63 The integral [5° 1f_”;2 equals

@ Here is an antiderivative: [ ¥ ?ﬁx dz. Tell what substitution to use in order to find this

antiderivative.

@The integral / —7zdz equals

‘The antiderivative / zsin (z) dr equals

Fmd fl 2% In(5z) dz )
. s
"~ (a) 4ln2+ 35— (¢) 4ln3+%In5-3

15
(b) 41n2+l451n5—% (f) 2In2+2Wnb5-—3
() 4ln2+3n5- 3 (g) None of the above

(d) 4ln2+ Y In5- 3

f 4 §Find / 2% sin(27z) dz.
Vgl 0

-1 1 .
(a) 2w ~ (e) T + 33 (i) 5
1
2 fy — i) None of the above
(b) = () o 3)
1 1
() o () o2
4 0 () 7 - —
(d) 27
2 -1
£05 @ The most appropriate first step to integrate / Ereca dz would be
(a) Integration by parts (d) Other (non trigonometric) substitution
(b) Partial fractions (e) Differentiate the integrand

(c) Trigonometric Substitution (f) None of these



o0}

improper integral / xe~*dx converges to

0
(a) 0O (e) 2
(b) 1/e ) e
(¢) 1/2 (g2) None of these
(d) 1 (h) It doesn’t converge
= 1
WOl 7. A ;1; dx

(a) converges if 0 < p < 1 (b) converges if p =1 (c) converges if p > 1
(d) diverges if p > 1 (e) diverges if p > 0 (f) diverges if p # 1

(g) none of these

& a
9. The value of / a? —z2 dzx is

—a

@13, fezcosa: dz =
(a) e*sinz + C (b) e*cosz — e*sinz + C (c) e®sinz — e*sin2z + C

(d) 3€®sinz + 5e® cosz + C (e) 2¢"sinz — 2e%cosx + C (f) none of the above

Fol 3. Which of the following substitutions will best simplify the integral [V3+ 2z — 22 da?

(8) z=1-—2secu () z=+/3sinu
(b) z=+3+2coshu (f) z=1+2sinu
(¢) z=+3cosu (g) z=2sinu

(d) z=+/3—2coshu



e+1
7. The integral / (z —1)In(z — 1) dz is equal to
2

(a) 622— 1 (d) 622' 1
& —1

(b) e*+1 (e) i

() 62;“1 ) -1

dien, 1
¢ot, 110} Evaluate the definite integral / z3v/1 — r2dz.
: - 0

24322 33—z
3z —r—2
(z+1)(z2+1)

@ilz (a) Evaluate the indefinite integral / ( = +-2 )dac

(b) Derive the partial fraction expansion for

- 6\ 1
™ @ @ Evaluate the integral / t%et dt.
0

43

@ Expand in partial fraction form T
. o

2
@Evaluate the integral / i dz.

2 -1

®. Evaluate the integral / 4——1— dz.

— 3sinz

wol 14. Find a formula for / V'1-a?z? dz (a > 0)

/2
16. Evaluate / sin® z cos? r dz.
0



. i x+1

10. Determine whether each integral converges, and give its value if it does so.

(a)/ 22 dx
0
1
1
(b) / L
-1 /|2
0l 9. Evaluate each integral

O P

(b) f sec®(2z) dz

1
18. Find the definite integral / 31 — 22 dz.
0

ot @ Find the following

@ (6 points) f/*sin® (z) cos? (z)dz

@ (6 points) [ Z=2dz.

@ (6 points) [ W_%“__JZ dz



